*III-3 ____C ____NC
Chemistry 252

Quiz 11

Name: ______________________________

*A. (2.0 pts.) Hydrolysis of a triacylglycerol gave glycerol, two moles of palmitic acid and one mole of oleic acid. The original triacylglycerol was found to contain a stereogenic center. Sketch the original triacylglycerol.

B. (2.0 pts.) Give the products expected for the saponification of the simple triglyceride tristearin.

C. (1.0 pts.) Describe simple chemical tests that could be used to distinguish between the members of the following pairs of compounds.


1. palmitic acid and linoleic acid


2. 5α-pregnan-3-one and 5α-pregrane

D. (2.0 pts.) Draw the structure of the following steroids.


1. 5a-cholest-1-en-7-β,11α-diol-3-one


2. 5α-pregnan-3α,7β-diol

E. (2.0 pts.) The structure of a steroid is shown below. Redraw the structure showing the conformation of the ring structure.
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F. (1.0 pts.) Identify the isoprene units in each of the following naturally occurring substances.


1. 
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2. 
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Bonus (1.0 pts.) Give the name for the structure in part E above.
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